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Please read the instructions carefully. You are allotted 5 minutes specifically for this purpose.
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Name of the Candidate (ufteneff @1 am) : Reg. Number :
118
GENERAL INSTRUCTIONS IN EXAMINATION HALL
. General : 3. 9
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. This Question Paper contains 80 questions. Please check

before starting to attempt. The question paper consists of
Two Section : Section-A: Connceptual Section — Physics
(2-20), Chemistry (21-40), Biology (41-60)

Section-B: Brilliance Section — Physics (61-65), Chemistry
(66-70), Biology (71-80)

1.

9 YA H 80 U B | HUA UL YE I A Usd WA o |
39 U0 H 2 9N §9 UBR - AN—A@@RE AR Afaw
fasm @ @ 20), A A9 (21 @ 40), ST A (41 I 60)
MRI-B (@fr 9m) s A (61 9 65), AR A4S (66 & 70),
Sha fa=m (71 9 80) |

. Space is provided within question paper for rough work hence

no additional sheets will be provided.

% B BRA D (o7 YT—T4 A B W QAT T B 3
FfRad w7 J g Me a1 TR T8 = s |

3. Blank paper, clipboard, log tables, calculators, cellular phones | 3. @Tell ®HITS, &N, oIEIUIdh HIROY, dogeley, ¥d B UG
and electronic gadgets in any form are not allowed inside the fpel M UPR B goraeie Ao qhe e § o arid ¥ |
examination hall.

4. The answer sheet, a machine-gradable Objective Response | 4. IR . offeifded =g ofie (@NamRuw) o f& a=f=

Sheet (ORS), is provided separately.

ERT Sl e, 37 ¥ g @ TS 8 |

. Do not Tamper / mutilate the ORS or this booklet.

ANARTH. T T—TF D Al W UBR A Bic—BIC A ARS - |

. Do not break the seals of the question-paper booklet before

instructed to do so by the invigilators.

U-UF & A a9 dd T8 Wil ol ddb (& [ANEd gRI
fader & Ry o |

. SUBMIT the ORS to the invigilator after completing the test &

take away the test paper with you.

T AT B @ 9% SN.IR.U. e MRigd bl |y qen

. Any student found/reported using unfair means to improve his/her

performance in the test, shall be disqualified from STaRT-2018.

Y993 39 1Y o W |
IR Prg [Tl N 3§ 37 deM B (o G e BT TN BRal
R T 2 X R e T i 9 STaRT-2018 & forg 37 8|

. How to fill Objective Response Sheet (ORS) for filling

details marking answers:

. Use only HB Pencil for filling the ORS. Do not use Gel/lnk/Felt

pen as it might smudge the ORS.

Jffeifadcg Y dfic @IaRTd) § e don SR oifed
P B forg 91 geR W

10.Write your STaRT-2018 Student Registration No. in the boxes

given at the top left corner of your ORS with blue/black ball
point pen. Also, darken the corresponding bubbles with HB
Pencil only.

10.

IO STaRT-2018 faeml IROREI HHIh IMIRTE, e & a- B
F Qg MY R F el A Pl 9 T H W | R A FHD B AR
Ay fow T Tl 3§ HB UReT ¥ TR HY |

11.If any student does not fill his/her STaRT-2018 Student

Registration No. correctly and properly, then his/her ORS will
not be checked/evaluated.

11.

Ife P fJenedl T STaRT-2018 faenefl Rge™ HATH
& Td &P I | qA S MIRTE. BT

12.Since it is not possible to erase and correct pen filled bubble,

you are advised to be extremely careful while darken the
bubble corresponding to your answer.

12.

R g U9 §_TENT

| s et 90

49

13.Neither try to erase / rub / scratch the option nor make the

Cross (X) mark on the option once filled. Do not scribble,
smudge, cut, tear, or wrinkle the ORS. Do not put any stray
marks or whitener anywhere on the ORS.

13.

14. If there is any discrepancy between the written data and the bubbled

data in your ORS, the bubbled data will be taken as final.

14.

I TR @ WA H 3ifhd SHGR B & YA AT ST |

C. Question paper format and Marking scheme :
15.For each right answer you will be awarded Section-A & B

3 & 6 marks if you darken the bubble corresponding to the
correct answer and zero marks if no bubble is darkened. In
case of bubbling of incorrect answer, minus one (-1, —2) mark
will be awarded.
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YeT-UF MR U4 31h e 1+ ¢
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SECTION — A (CONCEPTUAL SECTION) #r-3 =@ wr)
PART - | (PHYSICS) =m- | (e fsm)

Straight Objective Type

This section contains (1-20) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

A TS TR
9 @S H (1-20) T5-fFad U 2|y e & 4 fAFa (A), (B), (C) den (D) &, o & R g&
|qa 2|
1. A ball is thrown vertically up with a certain velocity. It attains a height of 40 m and comes back to the
thrower. Then the:(g = 10m/s2)
(A) total distance covered by it is 40 m (B) total displacement covered by it is 80 m
(C) total displacement is zero (D) the average velocity for round trip is not zero

TP g B [Hf¥Ed 97 9 SwEier SR F AR BHI Ol 81 I8 40 m a8 dd ol & MR Bhd a1t b
U & oMt 8 a1 (g = 10m/s?)

(A) SHS ERT TF &1 T8 G 40 m B (B) 39 gRT ¥ fdhan mar fazemu= 80 m &
(C) g o= 3 2 (D) ¥ &) gof I & forg gt ofd a7 g 8 2
2. A particle is projected under gravity at an angle of projection 45° with horizontal. Its horizontal range is

36 m. Find maximum Height attained by particle.

TEh HU o B A AR F 45° S0 W Il fFar S 21 9 | 9HE W 989 & fog ger
@1 &faS TR 36 m. & | BUT §RT U< Aferebed el T B |
(A)3 (B)5 (SN (D)9

3. A force F = (5?+3]) newton is applied over a particle which displaces it from its origin to the point
r= (2? +1?) metres. The work done on the particle is :
(A) — 7 joules (B) + 13 Joules (C) +7 joules (D) +11 joules
1% B9 R F = (51 +3]) FeT I TN W Ig A9 g I T TR g ) @ Reifdy r= (20 +10)
Hrex B, faRenfia &rar 8| &1 R &y 1 w1 &1 9+ @
(A) =73 (B) + 13 5[t (C) +7 [t (D) +11 [

4. If a man increase his speed by 2 m/s, his K.E. is doubled, the original speed of the man is :

I U AT SO0 AT Bl 2 m/s I Il ©, Al IAD! ISl SHoll g1 8l Al 8 | Afdd d IR<dd
oA T

A)1+22)mis  (B)4mis ©@E+22)ymis D)@+ V2)mis

5. A body moves a distance of 10 m along a straight line under the action of a force of 5 N. If the work
done is 25 joules, the angle which the force makes with the direction of motion of the body is.
5 e 91 & UG H T a%g Rl X@l H 10 m g9 79 aRel ¥ | A fHar e erf 25 J 7, @1 9 gR
¥ B e | TR AT BT B |
(A) 0° (B) 30° (C) 60° (D) 90°
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6.

A heavy mass is attached to a thin wire and is whirled in a vertical circle. The wire is most likely to
break.

(A) When the mass is at the height point of the circle

(B) When the mass is at the lowest point of the circle

(C) When the wire is horizontal

(D) At an angle of cos™ (1/3) from the upward vertical

TH R STAM Pl Idel IR A Siie R HEER g § AR S 8 A1 IR & e Bl JHad Fw=ira-

fra fag w &rft —
(A) 919 SIHF 9d & Seaad fag ™ 8Rm (B) 919 %o g & =¥ fasg W= 8
(C) o9 ar &fat & (D) S&afeR HUWR Bl MR A cos (1/3) BT W

A body moves along an uneven surface with constant speed at all points. The normal
reaction of the road on the body is :

U I8 TP AFAN das W F9 el W Fd @ 9 T W B 99 g1 9% W AWer gfafhar

—
B
o}
A
(A) maximum at A (B) maximum at B
(C) minimum at C (D) the same at A, B & C
(A) A TR IrfeHad (B) B WX 3ffedmad
(C) C R =AdH (D) A, B3 C WR 9+

Consider a system of two particles having masses m, and m,. If the particle of mass m, is pushed
towards the mass centre of particles through a distance d, by what distance would the particle of mass
m, move so as to keep the mass centre of particles at the original position ?

A b bl m, T m, SHE B & B A 991 8 | A m, SFA D DU Bl QI BN D GHH
T B AR d I gPHAl S B, Al m, TIAF B B BN O FAW AG PO BT GIAH D=
RS Rafy R 382

AL d (B) Mg (C) d (D) M2 g

A) ———
m, +m, m, m,

A body 'A' is dropped verticaly from the top of a tower. If another identical body 'B' is projected
horizontally from the same point at the same instant, then-

(A) ‘A" will reach the ground earlier than 'B'

(B) 'B' will reach the ground earlier than 'A’

(C) Both 'A" and 'B' will reach the ground simultaneously

(D) Either (A) or (B)

Th a8 'A' UP TR ¥ FEiER A B R RE SRl 21 A U oIk w9H 9%g ‘B’ Sl g 9 Sl
&1 &fos fem & yafia @ i g a—

(A) A, B Ugel SFIM 9RO | (B) B, A ¥ Ugcl WM WR U |

(C) AR B THI HH W Td A1 gga | (D) (A) 12rar (B)
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10.

11.

12.

13.

14.

A body goes 30 km south and then 40 km east. What will be the displacement from initial
point?

T g%g 30 km Tfaror § 40 km gd # WA PRall B | GG BT ARG fag A e garsy 2

(A) 50 km, 37° South of East qd & &faro &1 3R

(B) 30 km, 37° South of East gd & &faro1 &1 3R

(C) 40 km, 53° South of East Jd & faror @t &R

(D) 70 km, 53° South of East qd d &1 &1 &R

The velocity of a particle moving on the x-axis is given by v = x2 + x (for x > 0) where v is in m/s and x is
in m. Find its acceleration in m/s2 when passing through the point x = 2m
X-31e & I T B I8 TP BV BT I v=x2+x 9§ AT ST 81 &2l v, m/s | T X, m & | 59 I8

X =2m ¥ ORAl ¥ 99 $HH @R m/s2 H F1d B |
(A) 0 (B)5 ©) 11 (D) 30

A particle P is moving with a constant speed of 6m/s in a direction 2? - ] — 2I2 .Whent=0,Pisata
point whose position vector is 3? s 4] = 7I2 . Find the position vector of the particle P after 4 seconds.
T B0 P PR A 6mis A 21 — | — 2K fem % wfehe 21 t= 0 R B9 P YW fag W 2 fra Refy
afewr 3i+4]-7K g™ RY o 21 4 Yove uzar P& Rufy |y dsy ?

(A)18 i-4 j-23 k ®)19 i-4 j-23 k
©) 19 i+4 j-23 k 019 i-4 j+23 k

When forces IE1 , F, , F; are acting on a particle of mass m, the particle remains in equilibrium. If
the force lfl is now removed then the acceleration of the particle is :

A mEeEA d s R ad F, , F, , F, o ¥ a1 w1 sigem ¥ e 21 A F, &) ger foran o
a1 YT BT @RI B |

(A) F,/m (B)-F, /m (C) F,—F, /m (D) F/m

A body of mass 2 kg is hung on a spring balance mounted vertically in a lift. If the lift descends with an
acceleration equal to the acceleration due to gravity 'g' the reading on the spring balance will be-

fode @ Bd 9 dcal g8 B gan 9 2 fFm sogaH @ 9% dca g8 ¢l Ik forre, e @R g @
TR @RV G A= T B A R el F1 d1eaid B—

(A) 2 kg (B) 49 kg (C) 29 kg (D) zero
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15.

16.

17.

When light travels from medium X to medium Y as shown
ST9 ST SRR YehTel HIEGH X ¥ HIEgH Y H§ THA Rl ©

R
NEE

(A) both the speed and the frequency decrease  @Tal Td 3MgRI Q41 § HH BNl B |

(B) both the speed and the frequency increase I U9 AGRT IA1 A ghg Bl B |
(C) both the speed and the wavelength decrease  @Tel T avireed 41 § HHI Il 2 |
(D) both the wavelength and the frequency are unchanged. T37aed T 3mgfcr Q1 saRafid & 21

A candle C is kept between two parallel mirrors, at a distance 0.2 d from the mirror 1. Here d is the
distance between mirrors. Multiple images of the candle appear in both mirrors. How far behind mirror

1 are the nearest two images of the candle in that mirror?

31 FHioR gl & Wey, gU 1 W 0.2 d §¥ W UH AR C @ B, Tef d QA1 qUi & Hed g B | [
TUOl # Ae @ e gfafew e <9 21 qUv 1 @ fha 9w, 9Feh & S9 ]U0 H 1 Adead
gfafew =71 2

M et

d
(A) 0.2d, 1.8d (B) 0.2d, 2.2d (C) 0.2d, 0.8d (D) 0.2d, 1.2d

A student was asked to draw a ray diagram for formation of image by a convex lens for the following

positions of the object :

(1) between F and 2F (2)atF

(3) at 2F (4) between F and optical centre

The position for which virtual image can be formed among these is

(A)2 B)1 ©)3 (D) 4

TH BE A I o9 g1 g @ f= Rafot & forg ufiafds o = & oo o i &1 @ o
(1) FeR 2F & 91 (2 F®R

(3) 2F X (4) F 3R yaiRie o= & 94|

s ¥ o Refd & fag snvrll ufafde o &1 saan &, a8

(A)2 B)1 ©)3 (D) 4
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18.

19.

20.

In a concave mirror an object is placed at a distance x, from the focus, and the image is formed at a

distance x, from the focus. Then the focal length of the mirror is-

TP e SUUT H T 9] BIHT A x, T W R © TA1 3961 YR BIdd A x, T W g7
g, 1 UV & BIHE g9 T BI—

(A) x,X, (B) A X1Xo © \/:—T (D) X
2

Where should an object be placed on the principal axis of a concave spherical mirror of radius of
curvature 36 cm in order to form a real image having half its linear (lateral) dimensions
(A)—54cm (B) —118 cm (C)—36 cm (D) None of the above

36 cm THAl AT dTel TelT Jfadd JUU P G e W Y 9] DI Hel W& O [h E™
(UTed) SMBR T ST TAT aR<rad ufafera 99 Tb—
(A) - 54 cm (B) — 118 cm (C)— 36 cm (D) SIRIad H I PIg -Ta!

An object is placed at a distance u cm from a concave mirror of focal length f cm. The real image of the
object is received on a screen placed at a distance of v cm from the mirror. The values of u are
changed and the corresponding values of v are measured. Which one of the graphs shown in the

figure represents the variation of 1/v with 1/u ?

U I ATl JUUT I ucm X WR W g AT U B Bibd X fom B | TUT H vem TP W
RY U W g Pl qrifae Yfafdw g 811 € | u e q19 gRafia e SHs A v b A AN
S 2| v T Uu D 99 IRIdT Bl USRI B a1l Fal A6 BT ?

TL TL T& TK
(A) v (B) 1 (C) v (D) v
o (0] o

N
Uy —> o 1 —> Uu —> Uy —>
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PART - Il (CHEMISTRY) ¥ 1 ®ara fsm)

Straight Objective Type

This section contains (21-40) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

AT TS TR
3 @ve ¥ (21-40) sg-Raed ye 2| udF ue & 4 fAwed (A), (B), (C) @ (D) &, o & faw
T el ¢ |

21.

22.

IUPAC name of the following compound will be.
COOH

Cl
(A) 1-Chloro-2-propyl benzene-4-carboxylic acid
(B) 4-Chloro-3-propyl benzene-1-carboxylic acid
(C) 4-Chloro-3-propyl benzenoic acid
(D) 4-Carboxy-1-Chloro-2-Propyl benzene
f=1 A &1 IUPAC A B —

COOH

Cl
(A) 1-FAR-2-f I=o-4-Fratfaaferd e

(B) 4-FARI-3-Nfa g=oii=-1-Faifaferd 3
(C) 4-FARI-3-Ufa S=fHIg®d 31t
(D) 4-BTaR-1-FARI-2-Wf i

In which species positive charge is delocalised?

B Wi # o9 g faReried g 87

+ A ~H

l_l|
OH, N® NE
A B) [~ c © D
()@ ()@ ()@ © )

/\
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23. Methanol, a liquid fuel can be prepared from water gas and additional H, at high temperature and
pressure in the presence of suitable catalyst.

2H,(g)+CO(g)—=CH,OH(g), AH =-92.2K]

Assuming at equilibrium:

(A) if pressure of the system is increased, moles of CH; OH is increased.
(B) If the temperature is increased, moles of CH;OH is increased.

(C) addition of extra amount of catalyst increases moles of CH;OH.

(D) removal of H, increases moles of CH3;OH.

AYHTA, Th <9 39 B Sfad SAREG o IURART # =g a9 91 @ R o A9 g AfaRed H, |
AT S FHT B |

2H,(g) + CO(g)——CH,OH(g), AH = —92.2k]

ARG W A §U—

(A) T P &1 g9 9gal 8, A CH; OH & #ied 984 & |

(B) afg am dgdr B, @ CH;OH & Aled d¢d ¢ |

(C) aft SRS 31 AfRaw w31 A 8, 9 CH,OH & Aled 9@ & |

(D) H, &1 2™ TR CH;OH & s §gd & |

24. In the nuclear reactions given below, identify how many transformations are a-decay?
A & T T fAfhaen W, fhaw wUIRUN W o-& BIAT ¥, UgEn |
(i) ?*Ra—> **Rn
(ii) ?2Rn — *®po
iy  **Po— ***Pb
(iv)  *Pb— *Bi
V) 24 24pg

vi)  *Po— *°Pb
(i)  *°Pb— #Bi

(viii)  *°Bi—> **°Po

(ix)  *°Po—*®Pb
(A)3 (B)5 €6 (D)8
25. In how many conversions, the bond length increases?

/1 9 9 faq fuRad=i & 99 oTE dedl 8 ?
(i) NO — NO* (i) N, ——> Ny~ (i) O, —> O," (iv) H, —— Hy+

(v)NH; —> NH," (Vi) NH; —— NH,”  (vi) BF; —— BF,
(A) 4 (B)2 €3 D)1
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26.

27.

28.

29.

30.

31.

A vessel contains a mixture of H, and D, gases. If a pin hole is made in the vessel, then

(A) mole fraction of H; in the gas remaining in the vessel will increase with time initially.

(B) mole fraction of D, in the gas remaining in the vessel will increase with time initially.

(C) the average molecular weight of gas remaining in the vessel will decrease with time initially.
(D) the partial pressure of H, in the gas remaining in the vessel will increase with time initially.
TP U1 H H,d D, I SURd & T 9rF § U Biel g §91a1 Sirar 8

(A)TE H qHT D T I g8 N H H, D A g 99 |
(B)UH # HHI & 1T 9 g8 N H D, D A YN §G |
(C)ura # ¥9g & WY 940 g3 N9 HT 3N\ SIHAM g |
(D)UT= # §9I @ WY I g8 A9 H H, F1 37R% I 98 |

Gases possess characteristic critical temperature which depends upon the magnitude of intermolecular
forces between the particles. Gases H, He, O, N, have Critical temperature in Kelvin respectively :
33.2,5.3,154.3, 126. From the above data what would be the order of liquefaction of these gases?
(Start writing the order from the gas liquefying first)

pifad a1 BT A0S o7 2 T ST AL IURT AHYY Il & GRATT WR R H=ar § | T4
H, He, O, N, @ hifad ad dfead # wwen @ 33.2, 5.3, 154.3, 126 & | SWRIGI ANl & IMUR W I &
Zfadvor & B BN (Ug B9 AN DI ford Fad1 SdHRor e ugel 89 )

(A) Hz, He, Oy, N, (B) He, Oy, Hz, N, (C) N2, O, He, H, (D) Oz, N3, H,, He

A mixture of N,O and CO, in the mole ratio of a : b has a mean molecular mass equal to "M" . What
would be the mean molecular mass of mixture of the same gases present in the mole ratio of b : a ?
N,O TAT CO, Bl TH 5101 § a: b & AIeR AU ¥ foram =1 a1 fsor &1 i Ed IvWR "M" UTed g |
If F9E A4 BT b:a® HAeR ogua A foran Sy a1 fs7or &1 siwd 319 Wik B ?

22a+44b

M a+b
(A) v (B) AT (C)™ (D) v

If travelling at same speed, which of the following matter waves have the shortest wavelength?

(A) Electron (B) Alpha patrticle (C) Neutron (D) Proton
71 9 9§ I g IR, S §EE AT | TR 8, geAad (shortest) dRIqed @l ® ?
(A) ST (B) TehT T (C) =g (D) Wt

Maximum number of & bonds possible in CgHg is :

A1 (B)2 (O (D) 4
Which of the following compound has isopropyl group?

(A) 2, 2, 3, 3 - Tetramethylpentane (B) 2, 2, - Dimethylpentane
(C) 2, 2, 3- Trimethylpentane (D) 2-methylpentane

fret & 9 frw DfE # oTsATIRG g ¥ ?

(A) 2, 2, 3, 3 — CgHIAU=H (B) 2, 2, - STEARAYH

(C) 2, 2, 3- A=A (D) 2-#freri==
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32.

33.

34.

35.

36.

2 moles of NaOH is dissolved in water to form 1 L solution. % w/v of NaOH in the solution will be :
NaOH & 2 Al & S § =addy 1 oilex fdeidas 99911 a1 @ NaOH faea & foaw %wiv sid &-1 —

(A) 4% (B) 8 % (C) 18 % (D) 80 %

Which one represents an impossible arrangement of quantum numbers :
BT FICH FE3N B U IRT™T AL Bl SR Hal § —

n Y4 m S
A 3 2 2 1”2
B 4 0 T
() 3 2 3 1”2
O 5 3 0 %

Sulphur trioxide is prepared by the following two reactions
S (s) +80,(9) — SO(9)
280, (g) + O(g) — 2S054(g)
How many grams of SO are produced from 2 mol of S and excess of O, ?
Aohy STgdiiaTss 1 <1 Tfifshansii gRT 9= ST &
S (s) + 802(9) — SO2(9)
280, (g) + O2(g) — 2S04(g)
S® T Hid 9 O, ¥ anfirea # FfAfshar g1 SO, &1 fham 9R ured B 2
(A) 160. (B) 640.0 (C) 960.0 (D) 320.0

An organic acid 'X' is a liquid, which often freezes during winter time in cold countries. On warming it
with ethanol in the presence of a few drops of concentrated sulphuric acid, a compound 'Y" with a sweet
smell is formed. X reacts with baking soda , liberate a gas Z , which is used for white washing of walls
Identify 'X"and 'Y' & ‘Z'.

(A) X=C,H;0,;Y =C4HgO;;Z=S0, (B) X=C3H;O,;Y =C3sHgO,;Z=H,

(C) X=C,H40; ; Y=C4Hg0, ; Z=CO, (D) none of these

TP PEH 3 &d o, Ol TR oS & H W Fg H 9 AT 2| A H,SO, B FH &I b
IuRefd § woAfd & I T HA W ARG Y 9T g 2, el {6 Ty gkt 2| X 9fe |rer &
a1 fora xa I Z a1 B, O AR R 9%E & foy s A o 9IRil ¥ XY G912 B uEAn |

(A) X=C,Hs0;,;Y =C4Hg0,; Z=S5S0, (B) X=C3H40;,;Y =C3HgO,;Z=H,

(C) X= C,H,0; ; Y= C4,H0, ; Z = CO, (D) 79 A P &I

A compound ‘X’ is formed when ethanol at 443 K is heated with excess of concentrated sulphuric acid.
this compound X will convert into Y due to hydrogenation in presence of Ni catalyst , then second
homologue of Y will be:

ST TIHTA B 443 K R 9 H,SO, @ e § 79 fhar oiram @ a1 Aiffis X 99a1 8, Affie X &1 Ni
IARD P SuRAMY F grggroNdro grT Afe Y § gRafda fear siar 21 Y 9 fgdg goirg &4 8

(A) CoHg (B) C4H1o (C) CsHg (D) CsH1z
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37.

38.

39.

40.

There are four elements p,q,r, and s having atomic number z-1, z, z +1, and z + 2 respectively. If there
element ‘q’ is an inert gas, select the correct answer from the following statements.

(i) p is most electropositive in the respective period.

(i) r is an alkali metal.

(iii) s exist in +2 oxidation state.

(A) (i) and (ii) (B) (i) and (iii) (C) (i) and (iii) (D) (i), (ii) and (i)
IR TG p,q,r, TT s RIS WA F@I z-1, 2, z +1, 3R z+ 2| IR T 'q TF Ifha T 8| @1 7=
¥ I FUF g |

(i) p 37T a7Tad ¥ HeW e faga o+ B

(ii) r U &R e 2 |

(iii) 's' +2 SATRIBROT A=A § UYIIT ST & |

(A) (i) T (i) (B) (ii) T (i) (C) (i) @ (iii) (D) (i), (ii) T (i)

Which of the following statements are correct?

(i) Generally the radius trend and the ionization energy trend across a period are exact opposites.

(i) Electron gain enthalpy values of elements may be negative (exothermic) or positive (endothermic)
(iii) The first ionisation energy of sulphur is higher than that of phosphorus

(iv) Te” > I"> Cs" > Ba” represents the correct decreasing order of ionic radii.

(A) (i), (iii) & (iv) (B) (i), (iii) & (iv) (©) (), (i) & (iv) (D) (), (ii) & (iii)
1§ ¥ P HUF 9 § ?

(i) | Froar qen smaeE fava &1 % Sad § Uh gk @ fdegd fAaulid g 2 |

(i) TeET BT SIS AT BT HIF FUMHD (SHSIE) T GHIHSD (SHSATINY) B FhaT © |

(iii)) TEHR BT YAH AT Holl BT A BRI o 3Afdb 8 2 |

(iv) Te” > "> Cs" > Ba” smufie 3o & a&) "ed %9 &1 qerian 2|

(A) (i), (iii) T2 (iv) (B) (ii), (iii) 7T (iv) (C) (), (i) T (iv) (D) (i), (ii) @ (iii)

Predict the formula of compound formed between a metal “m” which has 1%, 2" 3" |P values as 518,
7314, 9820 kJ mol™, respectively and a halogen “X’.

o1 “m’ & YoM g 3R Qe IP &1 W19 wHe 518, 7314, 9820 kI mol ™, B | 1g 'm’ BT Fellod “X &
1Y g9 ATt DS BT GF R BRT |

(A) mx, (B) maxs (C) mx3 (D) mx

To small quantity of X, few drops of HCI| are added. Consequently, a colourless, odourless gas is
produced. This gas on passing through lime water turns it milky, here X may be .

(A) carbonate (B) bicarbonate (C) carbide (D) either (A) or (B)

X @ &4 71 | HCl &1 §® o A €, |1 € U T1EH, THee 19 S 8l 81 39 19 Bl g B

uTl H gaTed BRE UR 98 O1 81 Sl ©, X 8 Adhl © ¢
(A) Prafe (B) dTg@praie (C) Prafzs (D) (A) 1 (B)
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PART - Il (BIOLOGY) #m- Il (S fa=m)

Straight Objective Type
This section contains (41-60) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

9 s TR
9 @vs # (41-60) 95w ued 21 AP U @ 4 fawed (A), (B), (C) den (D) 2, 5 & Ryw
TP el ¢ |

41.

42.

43.

44.

45.

Which one of the taxonomic aids can give comprehensive account of complete compiled information of
any one genus or family at a particular time?

(A) Taxonomic key (B) Flora (C) Herbarium (D) Monograph

fdll 9o a1 |/ B TP WU W USRI (@A) $39 & g fFw afffer gfea (Taxonomic aid) &1
SUAT fhar ST B |

(A) TS (B) AT (C) e=aRaH (D) HIFIRT%
Water soluble pigments found in plant cell vacuoles are:

(A) Anthocyanins (B) Xanthophylls (C) Chlorophylls (D) Carotenoids
ISy BB B IFA H A gferd avie BT F B E ?

(A) Tt (B) Si=enifther (C) uvfzRa (D) dRIfeATSS

Natural death does not occur in:

(A) Porifera (B) Protozoans (C) Echinoderms (D) Fungi

T 9§ WHfa 9g feaa =1 B 7 |

(A) RGBT (B) WIS (C) 3HIEATSHA (D) ®adb
Presence of leaf base pulvinus is the characteristic of

(A) Cycas leaf (B) Fern leaf (C) Banana leaf (D) Leguminous plant
qofg deu (Tafam) uorfgR & SuRIfy fhas der 2|

(A) ITSHE Tof (B) &+ uvf (C) dell & got (D) <Y< urey
Which is not a correct match

(A) Catkin - Mulberry (B) Capitulum - Sunflower

(C) Corymb - Banana (D) Raceme - Radish

HrT FE GAferd & 2|

(A) TTHIOTE - B (B) dUIged - I

(C) TRrg - Bl (D) JrArer - et
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46. The correct sequence of a taxa is
(A) Class — Order — Family — Genus — Species
(B) Class — Order — Tribe — Family — Genus — Species
(C) Phylum — Order — Class — Tribe — Genus
(D) Phylum — Tribe — Class — Order — Genus — Species
THAAET SO0 BT HH BT B

(A) T — 0T — Y 9T T (B) @t — 0T — TI99 — HY 43 — SIfQ
(C) U¥RT — T[0T — ¥ — TIgd — I (D) U¥IRT — 184 — T — 0T — 9 — S
47. The imperfect fungi which are decomposer of litter and help in mineral cycling belong to:
(A) Basidiomycetes (B) Phycomycetes (C) Ascomycetes (D) Deuteromycetes

AYd HIH Sl IRHE B AYUCH ¢ R WSl & ash H G R 8, J fhad awafra &7
(A) REIEERES (B) BpzeMERES (C) WHTHIERIES (D) SRERIES

48. Proboscis gland in Balanoglossus is associated with
(A) Digestion (B) respiration (C) Circulation (D) Excretion
JorErad § MR (gre) Y fFaw a=ia 2|
(A) uTEd | (B) T99 ¥ (C) uR¥=RoT | (D) SIS A
49. Brush border of small intestine cells is formed of
(A) Microvilli (B) Cilia (C) Flagella (D) Circular folds
BIT 313 & BIRES § g diex FAfifa g 28—
(A) GeHTHR ERT (B) faferm g (C) TifSTet gRT (D) FTTHR Bles §RT
50. Respiratory process is regulated by specialized centers in brain. One of the listed center can reduce the

time of inspiration upon stimulation

(A) Medulary inspiratory center (B) Pneumotaxic center

(C) Apneustic center (D) Chemosensitive center

Tqaq Ud &1 feE aRaw § Red ARed =i g1 fom omar 1) gdiieg di § 9 e
IEEUT I TR I 9T b qAT Pl TS AHAT 8 | 98 B |

(A) AGeR) STTEENT b5 (B) RAfRS &

(C) T=IfRed d75 (D) IS B
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51.

52.

53.

54.

How many of the folloiwng belongs to ascomycetes

Puffball, Amanita, Aspagillus, Penicillium, mushroom, Morchella, Trichophyton,
seprolegnia, Rhizopus, Mucor, colletotrichum.

(A) Four (B) Three (C) Five (D) six

T O fhd= Bad wwpETsied Soft # o B |

Puffball, Amanita, Aspagillus, Penicillium, mushroom, Morchella, Trichophyton,

seprolegnia, Rhizopus, Mucor, colletotrichum.
(A) IR (B) = (C) ura (D) &:

Ptyalin can not work in stomach because it is

(A) inactivated by HCI (B) inactivated by pepsin

(C) inactivated by rennin (D) carbohydrate digesting

TRIfe STTe § BRI T8 B Ghd Rifh de—

(A) HCl g1 fAfpg @R fe=r S 2 | (B) uftas g1 fAf¥pa &x fear Siran 2|
(C) X g1 ffSpa o= fear e 2 (D) BT UHd 2 |

The intrapulmonary pressure becomes negative w.r.t. atmospheric pressure during
(A) Normal quiet inspiration only

(B) Normal quiet expiration only

(C) Normal quiet inspiration and forced inspiration

(D) Forced inspiration and expiration

fpee SR of: RFEARI 19 argavSId &9 & AIUE RUHS 8l STl & |

(A) HIA AHRY A TTaET B QR

(B) Bdel AT 3T ITBIAT & SR

(C) W= A 3=<Tea¥d IR JeYUl <399 & QR

(D) 9oIYUi 3 99T 9 IWAFH & QR

The pH of the blood is maintained by

(A) Lactic acid and pyruvic acid (B) HCO3™ and Haemoglobin
(C) CO, and H,O (D) Pyruvic acid and H,CO3
SR B pH B 910 @1 AT &

(A) fded 3rd T TRSAd 3T (B) HCOZ™ a1 Ereraia
(C) CO,d H,0 (D) UrTwfa® 3 @ H,CO4

Phytopthora,

Phytopthora,
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55.

56.

57.

58.

59.

60.

The product of the first maturation division of germ cell in testis are known as

(A) Spermatids

(C) Secondary spermatocytes

gyl ®§ g gRugaH favrem & Sare B 8 —
(A) THfeew

(C) fadhus wicrarsesd

Graafian follicles are found in

(A) ovary of mammals (B) testis of mammals
A wifrsed fead arft ol 27
(A) W= & 3fvserd | (B) Wl & guor |

Main function of corpus luteum is to

(A) secrete progesterone

(C) facilitate fertilization

DI GfCIH BT &I BRI FT 57
(A) TSR BT H1GOT

(C) o= BT S 94T ®

Clitoris in female mammal is

(A) homologous to penis of male

(C) non-functional

113l B FATgeIR (Clitoris) 81l & —
(A) R RBrem & F9ord

(C) sifra

Acrosome is made up of

(A) Golgi bodies (B) Mitochondria
TSI (Acrosome) f&ddT 941 graT 8—
(A) TSt (B) WIS B~

Germ cells in vertebrate gonads originate by

(A) mitosis
(C) both mitosis and meiosis

(B) Oocytes
(D) Sperms

(B) S¥TECH
(D) g1

(C) liver of mammals (D) ovary of frog

(C)®f il & apa § (D) Hed & IMUSIR H

(B) facilitate ovulation
(D) facilitate passage of ova in oviducts

(B) JvSIHT Bl AT ST &
(D) 3U=arfR=l A 3V B olRA H HETIT BNl &

(B) analogous to penis of male
(D) overgrown structure

(B) R Rrew1 & wHafa
(D) srfaRex gfg arefl G==rm

(C) Ribosomes (D) Centrioles
(C) NrgaraH (D) ARBBR
(B) meiosis

(D) maturation without cell division

PIARIPA B Sl H o9 PIFRGIN fhad gRT S Bl 87

(A) |
(C) T Td arelRE

(B) 3reiRpE
(D) fa=11 B3 fawre & uRuaas
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SECTION - B (BRILLIANCE SECTION) 9r1-g (aforsm w1)
PART - | (PHYSICS) 4RI | (fas fagm)

Straight Objective Type
This section contains (61-65) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

\

e s TeR
39 @ve ¥ (61-65) sg—aad ued 2| uldd ueF & 4 fAwea (A), (B), (C) @ (D) &, i & faw
TP WE |

61.

62.

Three elephants A, B and C are moving along a straight line with constant speed in same direction as
shown in figure. Speed of A is 5 m/s and speed of C is 10 m/s. Initially separation between A & B is ‘d’
and between B & C is also d. When ‘B’ catches ‘C’ separation between A & C becomes 3d. Then the

speed of B will be -

A Bl A, B3R C U Il Y@ & gfel Fd ara 9 o # Seiiv ogaR us & fawn | afd @R @
TIAD T S5m/sTA CaHl I 10m/se | U™ H§ ATB S g &1 g 'd IR BICSH dra a1 ¢
H dB| 9 ‘B, 'C B Udheal e a9 ATC S 41 g 3d B FRI B Il B B A1SA BAf —

5m/s u 10m/s.
oM

—d——f—d —I

(A) 7.5 m/s (B) 15 m/s (C) 20 m/s (D) 5m/s

In the shown mass pulley system, pulleys and string are massless. The one end of the string is pulled

by the force F = 2mg. The acceleration of the block will be

foa ¥ <oy AR o e # R qen R0 SN B | IR BT Ud RIRT 9 F = 2mg §RT

a1 Sar 8| qed HT @R BN —

F=2mg

(A) g2 (B)0 ©ag (D) 39
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63.

64.

65.

A block of mass m initially at rest is dropped from a height h on the a spring of force constant k. the

maximum compression in the spring is x then :

m SEF P TP YCHl, Sl URY H faRMEERen 4 &, h S48 9 R Fadie k arell R o= R s
21 Al Ruw & afipay wdes x S B ®, a9 ;

)

l

(A) mgh = %kx2 (B) mg(h + x) =% kx?
1 1
(C) mgh = E k(x + h)? (D) mg(h + x) = E k(x + h)?

The velocity of light in a medium is half of its velocity in air. If ray of light emerges from such a medium
into air, the angle of incidence, at which it will be totally internally reflected, is

el ATe 3§ gHTe H1 99, arg H 9 BT S B | AT R fBRU 59 AwH ¥ aqig H gHD UIW
FRA 2 A gui AR WRTac= & forg, SMuas dior 81 @1fey |

(A) 15° (B) 300 (C) 45° (D) 60°

There is a prism with refractive index equal to \/E and the refracting angle equal to 30°. One of the
refracting surfaces of the prism is polished. A beam of monochromatic light will retrace its path if its
angle of incidence over the refracting surface of the prism is

T fron RTeT efadie 2 & aRIeR 9T Aads B 30° B a_TSR ¥ | o @) f evad®
{ag b1 Uifersr fbar M1 8| Tb Uiy YD BT GO 39D U ORI & Al SHBT U B0l
| &) 3Uadd Ade B FUR B —

A =,30°

(A) 0° (B) 30° (C) 45° (D) 60°
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PART - Il (CHEMISTRY) 9«r- || {&Ems)

Straight Objective Type
This section contains (66-70) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

€Y IRfTS TR
39 @ve ¥ (66-70) sg—awad yed 2| ydF ueF & 4 fAwed (A), (B), (C) @ (D) &, i 4 faw
T el ¢ |

66.

67.

Three graphs (A, B, C) are plotted for 1 mole each of three different gases at same temperature. Select
correct statement (consider the variation of pressure from very low to very high values along pressure-

axis)

N —>
(o8}

P—
(A) Z is less than 1 for gas B at high pressure

(B) Gas C can be liquified at a lower temperature than T,
(C) Gas A may be H, or He at normal temperature.

(D) All are correct.

o 9 % (A, B, C) T =1 N1 & 1 A1 & forT 99 U R 91 T A1 98 BUF © (IE A
f g9 & 791 <9 | ST @ TH I AT )

A
B

C

N—>

P—

ASAITNRIABS fog 2,19 &9 5|
B)M C,T.o /1 v R =fad & o1 Faeh 2|
(C) A= a9 R A A, H, a7 He 81 Foball B |
(D) &+ W& 2|

In which of the following molecules, central atom is sp* hybridized?
=1 § & B9 el § =i wA] sp’Halka 27
(A) H,S (B) PH; (C) AsHjs (D) H,O
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68.

69.

70.

A vessel contains A(g) and B(g) at 2 atm and 4 atm respectively at T K, the mixture is allowed to attain
equilibrium at T K according to the reaction:

8B(g) = 8A(g) + C(s)

at equilibrium (”_AJ - (”_Bj
Ng NA Jinitial

Find the value of y if K¢ = 2”

T&H U H AL 2 atm AT 4 atm TR A(g) T1 B(g) A9 T K IR SURerd 7 | fsror 79 aififsear & o gaR
TK AW R 9= 1fUd 8F & fog fovan &=ar g |

8B(g) = 8A(g) + C(s)

WW(”—A] (g )

Ng _Lawﬁm
y BT A T DY, aff Ko = 2Y 8 |

(A)2 (B)4 (€)8 (D)9

The correct order of second I.E. of C,N,O and F is -

C,N,0d F & fgdla 3= fava &1 9gal HH 39 UHR —

(AJF>0>N>C (B)C>N>0O>F (C)O>N>F>C (D)O>F>N>C

Identify Z in the series
s]ger § Z g

CH3 _ CH2 _ CH2 —OH Conc.Wﬁ'ﬁ X Br, Y alcoholic. 7
H,SO, KOH

NH, OH

OH
) )\/NHZ ®) /K/O” (©) )\ ©
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PART - lll (BIOLOGY) ¥rI- | (Sfa fasm)

Straight Objective Type

This section contains (71-80) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

€Y IR THER

9 @vs # (71-80) 9g—fawad ued 21 udF U @ 4 fdwed (A), (B), (C) den (D) 2, 5 & fyw

U$ 98 2|

71. Match the following and select the correct option

(A) Cyclostomes
(B) Aves

(C) Tunicates

(D) Balanoglossus
(E) Osteichthyes

1. Hemichordata
2. Urochordata
3. Agnatha

4. Pisces

5. Tetrapod

= &1 faam st Jon 98 fdwen &1 =" HIfsw

(A) ATSFARCT 1. efdrsel
(B) et 2. W
(C) Tfradca 3. g
(D) AT 4. foirT
(E) sm<raefist 5. TgTarsT
(A)A=3,B=5,C=2,D=1,E=4 (B)A=1,B=2,C=3,D=4,E=5
(C)A=2,B=3,C=4,D=1,E=5 (D)A=3,B=1,C=5,D=2,E=14
72. Identify the figure and select the correct option
':‘I“'(:‘?‘\;.... ~
' C
ol ¥ /
, $v.§? 77 :
Q& .n f’
St
e
\‘\ £ &
)
2
(A) A. Protein  B. Sugar C. lipid bilayer D. Cholesterol E. Integral protein
(B) A. Cholesterol B. Sugar C. Protein D. Lipid bilayer E. Integral protein
(C) A. Sugar  B. Protein C. lipid bilayer D. Cholesterol E. Integral protein
(D) A. Sugar  B. Cholesterol C. Integral protein D. Lipid bilayer E. Protein
=1 o3 ) ggard BT g |El SR BT 9dq DIy —
(A) A. W& B. 3@ C. oifte fgura D. Bloigld  E. 3T=<IR& WA
(B) A. BIeRGIA B. IHRT C. W= D. <ifie fgwa E. smaRe W=
(C)A.THT  B.UIdH C. <ifys fgu=a D. BleRglad E. 3=IRa& W

(D)A.I@HT B, Bloiglel

C. IaRad M D. ohifds fgwa E. midi=
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73.

74.

75.

Select the wrong pair?

(A) Aspergillus niger - Citric acid

(B) Morels and Truffles - Edible fungi

©) Amanita muscaria - Poisonous mushroom
(D) Colletotrichum - Ascomycetes

TAd g™ BT FAdTDb BTG

(A) TvgVIoTerd TSR - Efed e

(B) AN Tl THed - G AT Hadh

(©) THIAET TYBRYT - faen wereH

(D) BIACICIZHH - TEHHIE RIS

Which one of the following is the formula of maltose?

1 A ¥ BT U Aol BT gF 82

Here are steps in conversion of Substrate to product by enzymatic action. Arrange them in proper
sequence-

A. The active site of the enzyme, now in close proximity of the substrate breaks the chemical bonds of
the substrate and the new enzyme- product complex-is formed.

B. The enzyme releases the products of the reaction and the free enzyme is ready to bind to another
molecule of the substrate and run through the catalytic cycle once again.

C. The substrate binds to the active site of the enzyme, fitting into the active site.

D. The binding of the substrate induces the enzyme to alter its shape, fitting more tightly around the
substrate.

(A) C-»B—>A-D (B)C-D—->A->B (C) A-D—-C—-B (D) C—A—-B-D

T8t YomgHl far gRT fhaaR &1 Sare A URads @ g fy U B | 39@! 3fud w9 § FaRed sy |
A. TIi3¥ &1 Afhd W 1 fhaeR | fee Rafd wR &, 98 fraear & mafas 4491 &1 diear @ aen
T TATGH—SATE ST 97 B |

B. ¥8 USlgH, fha1 & SRl ®I Yo PR & AT Jad UlgH HhAER & 3= 37 9§ 989 & oy aaR
BT 8 R R & SRS Th B ol B |

C. fFumeR, torgd & |fhg wra # e BIox 399 49 O 2 |

D. TSZH ¥ IR &1 I8 999, $9@) Mefa § gRad &1 URa wxar 2 iR fhaeR & arl ok &1fd®

gadl A fhe 8 o 8 |
(A) C»B—A-D (B) C»D—A-B (C) A-D—C—B (D) C~A—B-D
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76. Sound is produced in mammals by A, which is composed of B __ cartilages, out of which _ C
are paired and __D__are unpaired.
Select the option which correctly fills A, B, C and D.

A B|C|D
(A) | Larynx 9133
(B) | Pharynx 814 |4
(C) | Syrinx 913]|6
(D) | Nasopharynx | 7 |3 | 4

W # @i A gRT STd @ W g WI__B_ SUiRerdl &1 & Bran @ o | C_ gfiua

Jorm__D__ 3rgfwa Bl 2 |
39 fadey &1 o= PINT o1 A, B, Cd D &l I8l YHR I ¥Rl B |

A R cC N
(A) | P 91313
(B) | T+ 8 14 |4
() | FaRkea 9136
(D) | A T 71314
77. Here are some statements about histology of alimentary canal, find the incorrect one-

(A) In duodenum, glands are present in sub mucosa

(B) Mucosal epithelium has goblet cells, which secrete mucus that help in lubrication.
(C) The wall of alimentary canal from mouth to anus possess four layers

(D) All the four layers show modifications in different parts of alimentary canal

IEl AMER T &I NAA & IR F {B T Y T B | AT BT HATq BT
(A) TEvh # ferll, Suvers et # SuRYd &l B |

(B) TIfA®T SUdGe # Tele HIRGIN B B, S Tl FATId Bl ©
(C)g@ ¥ &I TF AERATA P! MRY § IR ®R 8 2 |

(D) 9! R IMERATA & faffs w7 wuraRoT g9 ¥ |

78. Correct sequence of cell stages in spermatogenesis is

(A) spermatocytes, spermatids, spermatogonia, spermatozoa
(B) spermatogonia, spermatocytes, spermatids, spermatozoa
(C) spermatocytes, spermatogonia, spermatids, spermatozoa
(D) spermatogonia, spermatids, spermatocytes, spermatozoa
YEhole (Spermatogenesis) &1 el hH B—

(A) THEaTEe, WHfes, WHerI==En, WHersiie

(B) T¥ernfa, wHege, Wafee, Wiesiien

(C) WiErATge, TR, WS, TSI

(D) THermf=ar, WHfes, wherTse, [Hersien
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Middle piece of a mammalian sperm contains

79.

(A) centriole only (B) nucleus and mitochondria

(C) centriole and mitochondria (D) mitochondria only

U W YEHTY] B HeF W H BT B

(A) BT ARGBBI (centriole only)

(B) d=d qAT HIZSIHIOSAT (nucleus and mitochondria)

(C) TR&GHII TAT ATSEIHIOgAT (centriole and mitochondria)

(D) &aet AIZSTHIGAT (mitochondria only)
80. The cellular layer that disintegrates and regenerates again and again in humans is

(A) dermis of skin (B) cornea of the eye

(C) endometrium of uterus (D) endothelium of blood vessels

AT B I8 HIRAT Id S IR—IR el Yd Il 8, I8 & —

(A) @1 @ TH (dermis of skin)

(B) 7 ®ifa1 (cornea of the eye)

(C) iRl @ woSTAfeIH (endometrium of uterus)

(D) X arfefat & woeiehiform

ANSWER KEY
RESOSTART 2018 (SAMPLE TEST PAPER) XI

1. ©) 2. (D) 3. (D) 4. © 5. ©) 6. (B) 7. (A)
8. (B) 9. ©) 10. (A) 11. (D) 12. (D) 13. (B) 14. (D)
15. ©) 16. (A) 17. (D) 18. (B) 19. (A) 20. (©) 21. (B)
22. (B) 23. (A) 24. (B) 25. (A) 26. (B) 27. (D) 28. (©)
29. (B) 30. ©) 31 (D) 32. (B) 33. (©) 34. (A) 35. (©)
36. (B) 37. (B) 38. ©) 39. (D) 40. (D) 41. (D) 42. (A)
43. (B) 44, (D) 45, (©) 46. (A) 47. (D) 48. (D) 49, (A)
50. (B) 51. (B) 52. (A) 53. (©) 54, (B) 55. (®) 56. (A)
57. (A) 58. (A) 59. (A) 60. ©) 61. (B) 62. (D) 63. (B)
64. (B) 65. ©) 66. ©) 67. (D) 68. (D) 69. (D) 70. (D)
71. (A) 72. ©) 73. (D) 74. (©) 75. (B) 76. (A) 77. (C)
78. (B) 79. ©) 80. (©)

/\
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